Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C300015 Date:25/05/2016
Subject Name: FUNDAMENTAL OF MECHANICAL ENGINEERING
Time: 10.30 AM TO 12:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
Make suitable assumption wherever necessary.
Each question is of 1 mark.
Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.
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No. | Question Text and Option. Ust 3 ([Ascl.

Which of the following is permanent fastener?

1. | A | Welding B. | Nut-Bolt
C. | Button D. | Cotter pin
o(lAstuiell 5o stal vius 8?2

1. |A Al B. | ste-cllce
C. | aeat D. | sl22 Ulet
In a screw thread nominal diameter is equal to ?

2. | A. | Root diameter B. | Effective diameter
C. | Major diameter D. | None of above
g el AHlod ca Aed ?

2. | A | Yol cau B. | warsizs el
C. | D2 caut D. | Guzetl Slsunl ol
Which of the following is rolling contact bearing?

3. | A. | Full journal bearing B. | Ball bearing
C. | Partial bearing D. | Thrust bearing

ol AUl 58 AAL Sleese Aol B?

3. | A | st wolet ARlaL B. 1 dldt adlal
C. | wllac Aol D. | yze AL
To prevent lubricating oil leakage is used?

4. |A. | ‘O’ring B. | Washer
C. | Gasket D. | Oil seal
(a32loL vscte] ([@A¥e Ascl oll GualoL U 8?

¥. | A0 {lat B. | dQla
C. |ouxde D. | st et
Which type of pipe material is used for Dairy industry?

5. | A. | Asbestos pipe B. | Copper pipe
C. | Stainless steel pipe D. | Mild steel pipe
331 GallolHi sl YsiRell WeUall GuAoL AU 87

u.
A | QA Wsd B. | Slur wesu
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C. | ReaQu Wld wsu

D.

HIBES RlA Wsy

Which type of spanner is given in bike s

panner kit?

6. | A. | Tubular box spanner B. | Ring spanner
C. | Solid box spanner D. | Monkey wrench
w1850l Wl SlaHl sl YUSIRej Ule] AUUAUML WA B?

. RJ0YctR ollat AWetR B. | ot etz
C. 1 ddls dlat Qet2 D. | aiedl we
Which of the following has internal thread?

7. | A | Stud B. | Nut
C. | Bolt D. | None of above
ol Actimiedll 2 MicRs wiel sl B?

9. | A |wms o2
C | dlee D | Gurel Slsugl «i?
Spur gear is used to connect shafts.

8. | A. | Parallel B. | Perpendicular
C. | Inclined D. | All of above
AR Pl ALs2 Slsall Hie Guallal Ul 8?

¢ | A iR B. | da
Co o D. | Guretl iy
V-belts are usually used for ?

9. | A | Longdrives B. | Short drives
C. | Long and short drives D. | None of the above
dl-ace Hzeud sl M2 U B?

c. |[A |didl gisa B. | &8l sisa
C. ol ua &8\ glsa D. | Guretl 1iell sleua «1@
Which of the following is the positive drive?

10. | A. | Chain drive B. | Rope drive
C. | Gear drive D. | Beltdrive
Al ActtHiell 58 Wl slscd B?

0. |A | Agel glesal B. | Qu g18a
C. | Bl g D. | Qce sisa
Which one of the following is cross sectional shape of VV-belt?

11. | A. | Square B. | Rectangular
C. | Trapezoidal D. | Triangle
(Aot Hicll As cl-Aceall sell USDEA WIS B?

qA. NER B. | dulet
C | andausi D | B8
Which type of gear train is used in clock mechanism?

12. | A. | Reverted gear train B. | Simple gear train
C. | Compound gear train D. | Epicyclic gear train
sell UslRo(l BlatR 285et aulSan M3 A3HHL duRpg2A B?

.

A RaSs PBlar 28t

B.

ULEL PlaR 28t
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C. | s1uBos PlaR 280t D. | aARaussclls Blar 2ot
According to peripheral velocity, which is the medium velocity gear?
13. |A. | 1-3m/s B. |3-15m/s
C. | 15-30m/s D. | 30-50 m/s
UReoll Adlall AUR %] Aslan AARE Plar &2
13, -3 Hlek/Ass B. | 3-qu le:/Ass
C. 1 qu-30 lez/Ass D. 130-uo Hle/Ass
Which gear is used to convert reciprocating motion to rotary motion?
14. | A. | Spur B. | Bevel
C. | Helical D. | Rack and pinion
sl QlaRell Heeell el olde] adoustz aldul Ui aa 82
9. WR B. |[@aa
C | éAsc D. |25 wa ALt
Which of the following is flexible coupling?
15. | A. | Slip and muff coupling B. | Clamp and compression coupling
C. | Universal coupling D. | Flange coupling
o(lAsttuiell s sAelluct sucllol ol ysik 82
W, [A ey ua 1y sucllol B. | sdiu ua satet sucllal
C | yRada sudlol D | s@e sucllol
Which of the following are the remedies to avoid accidents?
16. | A. | Use of safety tools B. | Trained and Skilled workers
C. | Proper space for work D. | All of above
ol Actimiedll sall wsTHIA [AcRalletl ULl B?
1. Agdlotl Alklotloll GURAL B | dlellauot ual [yat stlorRl
C. | stelsral 12 yadl e D. | Guretl s
Which gear is known as herringbone gear?
17. | A. | Helical gear B. | Double helical gear
C. | Worm gear D. | Spur gear
sell QLR 3Rt Pl A3y sl 82
. [A | d@Asc Bl B. | suct d@set Blar
C. | ani Blaz D. | auz Bl
Which one of the following is cause for accident?
18. | A. | Faulty machinery B. | Improper light and ventilation
C. | Work without concentration D. | All of above
ol Aot HIYl sl WSHLA Uclloll S0 B?
e, [A | willysd Hallal AUYRl Uslal ua ddlAglet
C | Araetud siu sraltell 2 | D | Guretl aatley
What is speed ratio= ?
19 If, Ni=driver shaft speed and N>=driven shaft speed
" A | NixN2 B. N2xN1
C. | N/ N2 D. | N2/ Ng
e, |l Rellan = 2
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o, N1 = stescllol ausesll :Uls wal N, =

slatat ugesdl adls

A. | NixN2z B. N2xN1
C. | N1/ N2 D. | N2/ N1
Which type of drive is used in flour mill?

20. | A. | Rope drive B. | Beltdrive
C. | Chain drive D. | Gear drive
Ul enclloll LMl 58 UslRell siesclell GuAdUA B?

0. [A | Qu g B. | Qce gloa
C. | age sl D. | Bl glea
Which of the following is disadvantage of chain drive?

21. | A. | Proper lubrication regularly B. | Longer life
C. | Noslip D. | None of above
o{lActiHill sl Aol SLEcaAl NHLAEL B?

4. | A | arar w33l qofl3atet B. | diog 2t
C.o | cllu ot 8 D. | Guzetl 8l gL 13
The oxy-acetylene gas used in gas welding produce a flame temperature of ?

22. | A. | 1800 °C B. |3200°C
C. |2400°C D. |2100°C
A Acslowl auRidl wWsAL A Al &t AluHtet sl 8?2

2%. 1¢00 °A B. 13200 °Q
C. | 2¥00 °Q D. 12900 °Q
Which of the following is the fusion/non pressure type welding?

23. | A. | Oxy-acetylene welding B. | Spot welding
C. | Friction welding D. | Thermit welding
ol Actiiedl 52 $got/ollol YUR YslRe] Acslol 8§72

23. A A AL At Acslol B. | aQle Aeslot
C. | (Bsatet Aeslal D. [ aalle aeslo
Which of the following is not a part of arc welding?

24. | A. | Spark lighter B. | Gas cylinder
C. | Hose D. | All of above
o(lAatiniell s ws Acslolall euol otell?

2. s dlser B. | Sl Rcllos?
C. |aa D. | GuRell st
Which one of the following is metal joining process?

25. | A. | Welding B. | Brazing
C. | Soldering D. | All of above
o(lActimiedll 58 As tld Msclell lsa &2

U, aeslol B. | goflal
C. | desat D. | GuRetl oty

is used for radiator repairing?

26. | A. | Welding B. | Brazing
C. | Soldering D. | None of above

Rs. | WAz Ao w2 <l GuAdL A 82
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A | aeslal B. | @oflol
C. | Qeslot D. | Gurell Sl uaL (3
Cold working is carried out recrystallisation temperature?
27. | A. | Equal to B. | Above
C. | Below D. | None of above
5165 al$al ylsau AlsrecAlsBatet dluietsll aA 8?
0. [A | Mrul B. |ay
C. |11 D. | Guzetl 88 uglL «13
Which type of tool is used for straight turning process?
28. | A. | Single point cutting tool B. | Multipoint cutting tool
C. | Sharp edge tool D. | None of above
gl UslRo] gt o2 200l ylsal HIR2 duRla 87?
¢. | A | ot Moz 52101 gt B. | nedlWgee sdlol gt
C. | aud Ao gt D. | Gureil Sl uaL «1(d
Which of the following is not a drilling operation?
29. | A. | Spot facing B. | Facing
C. | Taping D. | Reaming
o(lAstiniell 57 glcllot BN UR et o112
e [A Qe 3ol B. | ¥allat
C. | 3ot D. | Al
Spring winding is an operation of machine?
30. | A. | Drilling machine B. | Milling machine
C. | Lathe machine D. | None of above
Aol cuslal a Hallotell ylsau &2
30. | A | Qellot 1allet B. | Acllor 1allet
C. | Qu nallet D. | Gurell Sl uaL (@
In plain milling machine, the table can be moved ?
31. | A. | Longitudinally B. | Crosswise
C. | Vertically D. | All of above
At Aot Hellotui, 2uct Aa 53 a3 B2
31, | A | Ablleyslact B. | sl
C. | adlset D. | Guretl sty
Which of the following industry casting process is carried out?
32. | A. | Machining B. | Fabrication
C. | Bearing D. | Foundry
o(lAstiniell 58 UslRetl GO s13loL ulsal aa 8?2
3. | A [ Hellollat B. | ¥ll3atat
C. ladla D. | 5168l
Which colour hose pipe is used in acetylene cylinder?
33. | A. | Black B. | Blue
C. | Red D. | Green
33. | sall Lol sl weuall GuAal A Alot Alcllosui ara 82
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stofl B. | ateoll
C. | eaua D. | dlell
Which of the following is the milling operation?

34. | A. | Face milling B. | Facing
C. | Laping D. | Honing
o{lAstiniell s Hlcllol ULt &2

3¥. | A | o dlelloy &L
C. | adl D. &t
What is full form of MIG?

35. [ A. | Metal inert gas arc welding B. | Metal inside gas arc welding
C. | Material inert gas arc welding D. | None of above
MIG of Y3oilH g 87
Al Red Boté A as Aeslol | B | et votaues A b Acslol

3Y. c

CHRAAA Bl A vk GURell 518 QL old
aeslol
Which of the following is boiler mounting?

36. | A. | Superheater B. | Air preheater
C. | Safety valve D. | Feed pump
o(lAottiell 58 l8AR (UlA2AUs (dl) HIBEloL &2

3. Yuréle? B |2 Ie?

C. | QAsdl alca D. | Rs uu
Which of the following is boiler accessory?

37. | A. | Feed pump B. | Fusible plug
C. | Feed check valve D. | Blow off cock
(Aot il 58 B8R (UslUs iol) AAUIL B?

30. (&s uu B. | syofluct wtol
C. | Bs As auca Do | ol 20 8l
Which of the following is a steam generating unit?

38. | A. | Compressor B. | Boiler
C. | Pump D. | Turbine
ol Aciedll 59 cRl Beuleat Y2 &2

3¢. SR B. | dlge
C. Idu D. | zuilget
A closed cycle gas turbine consists of :

39. | A. | Heater B. | Compressor
C. | Precooler D. | All of above
SAl03 ALRASEA A 20l 8ot slal 87

3¢, | A | ReR B. | sudaR

RECE D. | Gurell sty
The exact level of water in the boiler is indicated by ?

40. | A. | Water level indicator B. | Feed check valve

C. | Blow off cock D. | Stop valve
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ASAUL WRlle] AWssA AR el Rl asta 82
¥0. [A | dler Qad 88132 B. (35 As cucal
C. | ol s 8ls D. | 22w aea
De-Laval turbine is a ?
41. | A. | Impulse reaction turbine B. | Multi-rotor impulse turbine
C. | Single rotor impulse turbine D. | All of above
Sl-cllact 2ollsat A ysiRo] eultel 82
¥a. | A | sruc dAsaet 2ollget B. | ucdl AR sruc eullget
C. Rt A2 sruc 2olltset D. GURall
Aviation department used turbine.
42. | A. | Steam B. | Water
C. | Gas D. | All of above
salle sl (Aol 2ullgel cluR B.
¥. | A | &l B. | dle?
C. 13 D. | Gurell sty
In a petrol engine, if diesel is used, then the engine will
43. | A. | notrun B. | run more efficiently
C. | run at high speed D. | explode
%l WA WPotHi (Aol GUADL sRelH] U A dl.
¥3. | A | ug o8l a B | au? sdeatctell uad
C. lay asdl wd D. | Aogotui ustsl udl
In a four stroke cycle engine, the sequence of operation is
A. | suction, compression, power and | B. | suction, power, compression and
44, exhaust exhaust
C. | power, compression, suction and | D. | compression, power, suction and
exhaust exhaust
SR s ALRASAH AWolHl sMs WUt sl &,
AT usalet, shalet, Wk A | B | asalet, war, Suetet el AsAle
¥Y¥. AsARR
C. |l weR, sidalet, usel uA D. | uQatel, WeR, UsAot AR AsAR
AsAR
A carburetor is used to supply
45. | A. | petrol, air and lubricating oil B. | air and diesel
C. | petrol and lubricating oil D. | petrol and air
slofReall GUallol UG sRal HIZ UA B,
A1, sal ual gull3lal B. gl ua Bt
¥U.
A BA
C |03t ual gol3dlot et | P | Qe uat st
In four stroke engine, the working cycle is completed in of crankshaft?
46. | A. | One revolution B. | Two revolution
C. | Three revolution D. | Four revolution
¥S. | SR s Aol 35 wse2ell  €ls As aslol wasd yIl aa 82
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A Als Al AREE
C. | oL et D. | a2 el
Compression ratio for petrol engine is ?
47. |A- 61010 14 10 25
C. |10to 14 D. |12to 22
QA ARt 12 sLiyalat 22120 ala 87
¥9. | A s el 10 B. | ay ol 2u
C. lq0 ol 1¥ D. 1q2 ol 22
Combustion of fuel takes place by in compression ignition engine?
48 A. | Spark plug B. | High temperature produced by
' compression
C. | Battery D. | Electric current
5L 2ol 8oo{| 2ol WRAUl MY E&ol Ll AL B?
. AL aus wol B. | siatetell Geuzrt 2dc G
¥C.
cAlUHlet
C. laedl D. | @Qyd s2e
The unit of piston speed is ?
49. | A. | m/min B. | revolution/min
C. | km/hr D. | mm/min
Q2o lsall Yl &7
ye. |A | dle/RRe uiel/Ale
C 1BML/scus D. | Aclllle: /MR
Spark plug is used in engine?
50. | A. | Diesel B. | Petrol
C. |CNG D. |BothBandC
AL ol ARolMl Ul B,
wo. | A | Raa B. |22«
C. | ARty D. lua B C
Which work is done during exhaust stroke?
51. | A. | Combustion of fuel B. | Burnt gas come out
C. | Engine start D. | Sparking
AsARe W5 €Al 5 sl a2 &2
ua. | A | elaicQle] eset B. | sl cull olslr 3
Co | AR wy D. gl
What is unit of specific weight?
52. | A. | N/m? B. | N/m?
C. | Kg/m? D. | Kg/im®
QR ustctioll AsH 9 &?
uR. | A | yeet/Hl? B. | 2j2at /a2
Co 1B/ D. | (3o /400
In centrifugal pump, the regulating valve is provided on the ?
53. : p -
| Casing | B. | Delivery Pipe
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| Suction Pipe | D. | Impeller
Aog| LYol UUHL 0YAZ0L alcal sell ddIAd Sl 8?
uz. [A |3l Belladl wsu
C. | usatet weu D. | 1z
Following of which is dynamic pump?
54. | A. | Centrifugal pump B. | Rotary pump
C. | Reciprocating pump D. | None of above
s(lAsttiell s staadlls uu 82
uy. | A | Aclggole Uy B. | Qedl v
C. [ 203 &lol vu D. | GuRetniall slsunl «R
Following of which turbine is used at Bhakhara dam project (Satlaj river).
55. | A. | Kaplan Turbine B. | Pelton wheel Turbine
C. | Francis Turbine D. | Mixed flow Turbine
s(lAstttiel sl YsiRej 2ot GUUMRA SH YUBs2HL (A% olEl) cuRlU B?
ud, [ A | silot euiget B. | Qceot dlet eulesot
C. | sialla 2oligset Mes sA 2olieet
Which of the following components is not the component of centrifugal pump set?
56. | A. | Impeller B. | Volute casing
C. | Foot valve D. | Piston
o(lAsttiell s oL, A Aoglsgolet Uu Azell eldl oiefl?
us. | A sller B. | dleye 3xllal
C. | ge acd D | et
According to discharge pressure, which is the medium pressure air compressor?
57. |A. | Upto3 bar B. | Between 3to 8 bar
C. | Between 8to 12 bar D. | Between 12 to 20 bar
(32 YR Yaid), sof Mslad YR sLYRR 82
ua. | A |3 wr Yl B. 13ell ¢ R
Colceall 2 aR D. 1 a2 ol 20 a?
What is function of pump?
58. | A. | Increase the water pressure B. | Increase the diesel pressure
C. | Increase the petrol pressure D. | All of above
Uusj slal 9 82
we. |A | welle eouel autrels] B. | Bace] g0l ctutrelle
C. | 23lete] eourl arutRelle] D. | Guretl st
Which type of blade is used in Kaplan turbine?
59. | A. | Aerofoil shape B. | Circular
C. | Rectangular shape D. | Oval
silcllol 2ollgetil 58 ysRell cAds dua 87?
ue. | A | AANSA SR B. | sloustz
C | dul ausi? D | dodlousiz
60 Which turbine is tangential flow turbine?
' | Pelton wheel turbine | B. | Kaplan turbine
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| Fransis turbine

| D.

| Curtis turbine

5o 2oileset Ul Yale Usire] eullgel B2

s0. | A | Ueeat Blet 2olitset B. | swelet 2ollgat
C. | sialla eoligset D. | 58l 2uiieset
Following of which item is used for packaged material handling?
61. | A. | Bottle B. | Barrel
C. | Pouch D. | All of above
o(lAsttiell Aol Gualol F»S UlIlacd Sscllotl aa &2
sq. dlect B. | ARt
C w6 D. | Guretl sl
Which of the following material handling equipment occupy less space?
62. | A. | Belt conveyer B. | Hand lorry
C. | Crane D. | Fork lift
s(lAstuiel sy Hllac Fscllote] ALt eS| ol A3 B?
s2. | A | Ace Q2R B. | st adl
C. | 3eat D. | a5 cllse
Which type of crane is used at water surface?
63. | A. | Bridge crane B. | Floating crane
C. | Tower crane D. | Locomotive crane
URllell AWl U 58 ysiRe{l 38etoll GUADL SUHL ALA B?
3. [A | [Qo 380 B. | scldlot 38t
C. latar 38t D. | @séla 38t
Which type of earth moving machinery is used to work below machine operating
64 level?
" | A. | Loading shovel B. | Bucket loader
C. | Dragline excavator D. | elevator
58 yslell uedylor Hallatilell Gualol Hellotieti ¥UREDL Aacell ollA s
sal HIle UL B?
S¥. -
A | Aglal Aaa B. | ude Als?
C. | dolcuset AAAe? D. | q@ae=
Which of the following machinery is not hoisting equipment?
65. | A. | Screw jack B. | Power shovel
C. | Elevator D. |crane
s(lAattuiell 58 12l A SleElol As[unoe o1fl?
Su. ¥ Bs B | war aa
C. la@aez D. | 385t
Which of the following equipment is used for material compaction?
66. | A. | Road roller B. | Paver
C. | Roller and bulldozer D. | Loader
ol Al 52 Ullet HEZlaAAs] 51U Sl HIS AURAU B?
$s. As ActR B Qar
C. 1 Actz wA getdlowR D. | cls?
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Which of the following process is used to join two dissimilar metals?

67. | A. | Welding B. | Soldering
C. | Brazing D. | None of the above
ol Aatimell 58 Ylsaul A AL Uldal glscll M2 scllHl uUd B?
59. aeslat B. | desdat
C. 1 @oflal D | Guel 88 ugl «1R
Which type of gear mechanism converts reciprocating motion to rotary motion?
68. | A. | Spur gear B. | Spiral gear
C. | Bevel gear D. | Rack and pinion gear
56 YslRell Plar 280t {ANEEoL W alote] A23 Walel Ui UAR 53 &2
sc. | A | R Rar B. | awgRat Bl
C. | Qad Bl D. 135 wa Qollaet Blaz
The water tubes in a Babcock and Wilcox boiler are
69. | A. | Inclined B. | Vertical
C. | Horizontal D. | All of above
Aulsls Aa ([Aaslet slscul WRlle(l wsu st ysi? dlat 82
se. | A |l B. | Gell
Claudl D. | Guretll st
Which equipment is used for concrete mixing?
70. | A. | Scrapper B. | Mixing machine
C. | Shovel D. | Dragline
slsle (eflol sloticlal sl Altotall GUADL U §?
90. |A | Bw B. | Mellor 1allet
C. | aa D. | Jorcusat
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